& Jy B R HAE (E0.00)

—_———

ﬁrﬁl

o 5 (5] 08 —an

- ;§—1= — 2% #—T _n e e
ERETE, HAl

I___ NG EE
I
LL@ e Sme S @
BT

EREEFEEXE (E0.02)

m =x FHT | BERR
BT —> E0.00 Iﬁ’ _> EO0. 02 —>

E0.02=0 (15 R%3& 2 #2490-10bar)
E0.02=1 (& Rk & 2 40-16bar)
E0.02=2 (& EXE5 B F20-25bar)

—>||i|'

—p _> _> —> R ERIRE T
£0.03 H B2 H0-10bar
T rm |

|___

#B—T 'u' £R BT P ;s—?

?ﬁﬁT u l—l; _> Eo, 03 _> — 1§m§i&&§m—ﬁ
= 0-25bar

RRERIRREEE
HEF2H0-16bar

15 R 3B AR 2 #4E (E0.03)

BRT HERR B—T

,___

—» SN S Es] —>|-'

EO 03 0 (%Illl.g:1§:ﬁi2§§)
£0.03=1 (FB E B R%=])

#—T _. 25 BT 5
= - femas A EoR
> —> | E0.04 [ —> HA RS

- Er fmERmg R
—>un| —> —’ S EXY _> > mxmnmEnees




	压力及传感器设置.vsdx
	页-1


